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QUESTION 1

An implementation plan should include an agreed-on time for the final rollback decision. What should this decision be
scheduled? 

A. After the cutover to the new solution and the first set of validation tests and just before the user acceptance tests
(UATs) 

B. after the first steps of the rollback plan have been implemented, about ten minutes before the end of the maintenance
window 

C. just before the point of no return, which is calculated by subtracting the rollback time from the end of the maintenance
window 

D. ten minutes before the end of the maintenance window or one hour into the implementation, whichever occur first 

Correct Answer: C 

 

QUESTION 2

A network architect is designing a redundancy solution for a customer and has learned that there is a single link
between two critical network components. During the past 4000 hours of operation, the link has failed twice. The
customer estimates that each failure has taken two hours to resolve. 

Given this information, what is the availability that this link currently provides? 

A. Less than 99.99% 

B. 99.9% 

C. 99.99% 

D. 99.999% 

Correct Answer: B 

 

QUESTION 3

Refer to the exhibit. 
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The exhibit shows a network with HP 3500 yl Series switches at the access layer and HP 8206 zl switches at the core.
The customer with this solution has logged several support calls, which were eventually tracked down to spanning tree
issues. How can a network architect adjust the solution to prevent the issue in the failure? 

A. Implement BPDU filters on the switch-to-switch links and loop protection edge ports 

B. Connect three or four 3500 y1 switches together in a group. Establish a distributed trunk between two switches in
each group and the core switches 

C. Implement BPDU guard and broadcast suppression on all the switch-to-switch links 

D. Configure distributed Trunking on the two 8200 zl switches at the core. Create a distributed trunk between the core
switches and each 3500 yl switch 

Correct Answer: D 

 

QUESTION 4

Data center includes services within the same VLAN and subnet that communicate with each other multicast
application. Variable Internet Group Management Protocol (IGMP) on this VLAN on data center switches? 

A. To enforce security boundaries between servers assigned to different multicast groups 

B. To eliminate multicast traffic on server ports that have not requested the multicasts 

C. To ensure that different applications do not use overlapping multicasts addresses 

D. To enable the servers to hear each other\\'s multicast transmission 

Correct Answer: B 

 

QUESTION 5

A company recently experienced a data breach when an unauthorized user accessed the network. Which questions
should the network architect ask to identify an affective access solution to prevent unauthorized access in the future?
(Select two) 

A. Do users have legacy device that do not support 802.1X? 

B. Does the company have the resources required to train users on remediation services? 

C. Does the company\\'s firewall support access control lists (ACL)? 

D. Does the company have an existing RADIUS server? 

E. Do users devices support Secure Shell (SSH)? 

Correct Answer: AD 
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